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Note: You have four choices for eac objective type question as A, B, Cand D. The 'choic!e which you think is correct,
Fill that bubble in front of that question number, on bubble sheet. Use marker-or pen to fill the bubbles. Cutting or
filling.two orore bubbles will result in zero matk in that question. No credit will be awarded in case BUBBLES are
not filled. Do not solve questions on this sheet of OBJECTIVE PAPER.

Q.No.1 . 1A
(1) How does sound travel from its soutce to your ea,r’} T 4‘334 L A L e (1)
(A) By changes in air pressure - ’b‘.‘tﬂ ER AL,
(B) By vibritions in wifes or strings o % 1 oS b b
(Cy By electromaghetic wave eIl ¥
(D) By infrared waves SISy, S
'(2)  Speed of sound at roofn temperature is: e Siteg A @
(A) 350ms™ | (B) 330ms™ (Q) 340ms™ (D) 320ms™
(3) The unit of intensit?' of sound is: eitf 0 JM‘T (3)
w wmt (B Wm™ (C) Wm (D) wm™
4) The turn ratiq of transformer is 10, it means: . w10 Ry P /M/ﬁ “
) =101 ® vesefy O NS’%‘WNP @ V="
(5)  Theldgical operation perfomied by N ’5 el el )
this gate is: :"ﬁi ‘
(A) ANDX ~(®) NOT 2t ¥o) NoR 4 (P ORI

) | I
(6) What is the=power‘&at’iﬁ1g"of ',a laﬁ:p connected t0 i y Jﬂl;fb ;L-(*’E i o o L tneuwd 12V (6)
12V source when it carries 2.5A" e -_ﬂk/-ﬁ-‘éf ol ng

Ay 48W (B) M4SW () 30w (@) 6w

(7 The correct relation b%tween focal length(f) . 4_09‘ .__, Sl ni- (‘p e SR D PN 1N
and Radius of-curvature(R) is:

w =% ®) i =R © f=2R o f=84
(8) What does the term E-mail s,tands for? S a7 qug_d!, ®)
’ (A) Emergency mail % FEA (B) Electroniq meil \J"..f:ﬁﬁl

NAP21 (D) Extortalmall & J A

(C) Extramail

© Half life of I-Iy¢rog¢’p is: P Iy '-59\! Frsdth 9

| s ; Y : D) 2.85 years
i (A) 123 yeats (B) 5730 years (C) 30 y¢als” ) ;( : ]
i (10) &-lgw many cdmponents of a CBIS have? - ¢ ‘:_-Gf Ay LACBIS) S L) o (10)
@A 02 . B0 (©) 05 D) 06
(11) - The relation between V. fand 4 _.#Jb”wk.”‘; A8y £ i Fupef D
of & wave is: ' :
(&) vi= A @ th=v (0 v= (D) VA=
(12) When did Cheistian Huygens invent the pendulum clogk? "9/3&1: _/ i H’J"% i f\, o J(12)
(A) wie+1656 AD (BY w1756 AD [C) uss1856 AD (D) w1956 AD
' 18(Ob))( T 7 7)-2023(1"-A)-65000 (MULTAN)
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PHYSICS GROUP-T _ ety S
TIME ALLOWED: 145 H MIN- 1~ 23 gl ’
1VL s 1. ours 2’ 1.45 = &
MAXIMUM MARKS: 48 SUBJECTIVE 212 8 =4S
NOTE: Write same question number and its .4..(7»¢.;4¢1lrf 2 el Aznl A diru?:4Qb’Ql£ S

L ; :
parts pumber on answer bo‘lcxk, as given inthe question paper.

SECTION-1 Jst 2

7. Attempt any five parts. 10=2 %S5 Wy a;mamég‘;él 2 A
) What is meant by Restpr'm’g Foree? okl Y. ARy Q)
(u) Find the Time P.?rioﬁ. of é $imp1¢ Pendulum 1.0m long. ad ;‘("" L4 FJV.W oy LR (ii)
(11.11‘) How does the thickness of a lens affect its focal length? 2 oo, S B Fi Sty S (i)
(iv) Define Powet of a lens and write its unit. -«Jfﬁ LS ;JJ”J}J (iv)
] oo cd @ -

(v) Whatis meant by Nearsightedness’? s el ™)
Draw the symbol of OR gate and also 2o d W \ o ' (vi)
write its Truth Table. ' -] MIW'”MQJ:A b/ OR
(vii) What is the difference between Analogus t0 digital oo S 28 i SES S IE Lt (vil)
converter and Digital to analogue converter? ' i )
apA A

-,é/ijwumitméga,@f 3 A

(vi)

(viti) Define Electronics.

3. Attempt any five parté‘. 10=2X% 5
(i)  Defide Sound and write the necessary conditions _W 1 L Lt ot Sy At (p
for the production of sound. T = ;
d \Wite it unit. _uf’u‘_.jgt{;}r' l"d/&?}&kﬁf&-ffﬁéﬁ' (ii)

(i1) Define Intensity ¢f Sound an
(i) Calculate the frequency of sound

wave of speed 340 ms” and wavelength 0.5 m: |
expression. - ﬂ b I /%u;w,fj,f' (iv)

S J,Mub;.:uuﬁﬂ?-f ol ‘V)

i

_n0.5 m}f‘!ng 340 ms" L—.\;’J%V,J??tq{/(}” U'"":g/‘ J{:}"i‘/ (iti)

(iy) Write down Coulomb’s Law and it5
[n what direction will 8 positively charged Wen s ST e

(v)
© particle move in an electric field? ‘
(vi) Define Capacitance and its S1 unit. S P #zéftﬁ, o J,,V;f‘-ﬁ{ (i)
(vi) Write two advantages of e-mal. el ST LS (vi)
(viif) Define cell phone. . LSS (v
4. Attempt any five parts. 10=2%5 i aylxélzlégaé:" 4l
(i) Whatis meant by Qhmic and non-Ohmic Conductors? 2 P ) F L L @
(i) Caloulate O0€ month cost of using sOW energy STy e J 6 SOW 170U S LA LA (if)
saver for 8 hours daily in your study roomm. PR | & .
Assume that the price of 2 unit is Rs.1%. w-ﬂiu(g' NETANII L g > JK.%—Q?N@ '
| 4
(i) What is the fanction of Ammeter and Voltmetet? o ¥ e s (iii)
(iv) . What s meant by MR.I? | g e MR (V)
() DescriFe Fleming's Left Hand Rule. ' i fcﬂ.{-d"'wkaﬂ‘ Ll (v)
(vi) Which has more Penetrating Power; an Alpha PPy PN S ot WL A (vi)
Particle or Gemma Ray Photon? |
. -,
(vi) _What is meant by Nuglear Fusion? S et 2/,_(,3 vtx}
e one exardple.‘ e S F S A (viil)

(viii) Define Isotopes and giv

(2:’_]—‘;343 )
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SECTIONAT . (.0

NOTE: Attempt any two guestions.  18=2X9 i felnletrne () 2ol

5.(4)

®)

6.(A)

(®)

7.(A)

(B)

Explain refraction of light through 24224 e i ,;’L,;J{ AP Leig
prisni with diagram. .

What is the wavelength of the ?JK!H' g pIge) gt i ;.'-'e«.“fJ 00 MHz u’l.” 2hofiei L)
radiowaves transmitted by an 3 % 104 s~} e Afiantrnt LA =106 5
FM station at 90 MHz? 5 PR BOCEE Gt L U0

Where 1M =10°, and speed of

radiowave is 3 x 108 ms™

What is meant by Secondary Storage Memory? W W ‘_,ﬁ; e B i e S G i S
Describe the Mabnem disks and Hard (}ISI\
4 Y /e ..:«"WJ

| . o
Wt KDl DL TE Jeb 1.5km e ot 35em sl 2kHz ?i}’l,iﬂf{:/:lg‘*-}’:/’gfgsﬁwug

A sound wave has a frequency of 2 kHz and waveléngth 35cm.

5

‘How long will it take to travel 1.5 km?

LR E] TS el e B Rt 1 S S Lt 0 S

What is Solenoid? Exp ain the magnetic field of solenoid. How car} we find the
direction of magnetxc field produced in the %lm(nd? ‘

I+1+1+1+1 Sy -%gm,aw AL 250 Vs r/ua 4w »:,Mloow o

u"”"uJu"' LglﬁulJ;JLLJWI (k) L*/.fﬂ.oqfra.u"u" Wz (a)
A 100 W lamp bulb and a +k'W water heater are connected to a 250V Eupfblv
Calculate: (a) the currept which flows i i each appliance
(b) the resisthnee of each apphcm( e when in use

18-2023(15-A)-65000 (MULTAN)
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ote: You have four choices for each objective type question as A, B.Cuand D,

ill that'; bubble in front of that question nutaber, on bubble sheet.
xor«ibﬁbbles will result in zero mark in that question.
uestions on this sheet of OBJECTIVE PAPER.

).No.1
b Which is an example of 1_ongitudina1 wave?
(a) Sound wave p¥i
The sound intensity level of V\}hisper is:
(A) 10dB (B) 30dB
Which of the following quant ties is not
changed during refraction of light?
e

(a) lis direction eV

2)

€

(¢) Its frequency. seE A
The value of Refractive Index of air is:

a) 2 B) 3
A positive glectric charge

(A) Atiracts other positive cparge
(B) Repels other positive charge
©, Atiracts a neutral chargs

(D) Repelsa neutral charjel

“)

)

(6)  An electric, current in cofy i
(a) Positive ions ks
© Posit'n"e charges z.@:}ug

(7):

(a) Unlike poles repel L)
(c) Magnetic poles do not effect each other

(D) A single magnetic pole does not exist
(3 .
by a hot metal surface 18 knownas:
(A) Boiling S
(C) Conduction P
€)
() Any data i’ hYs
(10)
(a) Atomic mass  Jb.=tb
(¢) Number of protons AT,
If the mass of bob of a pe dulum is
increased by a factor of 3, the period of
ttie pendalum’s inotion willl
(p) be increpsed by a factor of 2 ¢t ot

dn

PIEE N P

Avawancad v a factor oiJ 2 b'é._(_:.wf o

(8) Light wave AN SY

b Dol
uetprs is dye 10 the'flaw of:

Which statement is true about the magnetic poles?

The process by which elggtrons are emitted

In gomputer rerminology information means:

_ (p) Rawdata 26
Isotopes are atoms of sam% element with different:

L.f -'.i.v"_!r,‘-l.‘ K m.,.t.am’,;éj.'..;. o J LS 4/ ;.’aﬁl.-/ 4 Vo ."'lm&}c....g 1

The choige which you think is correct:
Use marker or pen t fill the Bubbles. Cutting or filling ™o or

No gredit wl[ll be awarded in case BUBBLES are not filled. Do not solve

A
ededp i ()
(D) Water wave .g,J Jg
-.;..jd&f'f"‘ ¥ (25
(C) 40 dB D) 70 dB
‘.‘J::ﬂd_/,hlﬂﬂdgfa—uﬁJlgyﬂuuv.cuf‘; Ly u(Cf*u €)]

.¢) Radio wave 1295

(p) Its speed wdv

(p) Tts wavelength FHpdu
~€—-¢~£JJE}J!A§-‘_:’/£M 4)
) 4

!
y _:gfg)b;lgu’,‘gj‘tf’-’#@g (3)

S LS HE it (6)
(B) ‘!\Ic:igative ions )*U:’L
(p) Free electrons 51, 48007
?-f.-.r.-fud\:.\r‘wfdw S (7)

() Like potes aittact s P

v i L >
LaJs )(;:i}l.,r,z._ ‘m.}{!ﬂ;‘.&:{éf

WP /"/,..lz,c;c Jaul )
--f-—t"wffbnbzu'/':/‘éwﬂf SIS RS B2 ®
NIy |
S
w:-_q’»”"b’w’""gu?!u:&m;}m’ ©)
(¢") Processed data TP IV Large data Gpl)
PRS0 L ,:4;_:.:.&'6..;;»_,6,;;1 (10)
(B) Atomic aumber A :
(D) Nuinber of pleotrons ALY L
%’a-vrr'c?fi.@w*mfr‘:x»su'!?wg:fufufdwdfu'r’z:rw/ﬁ (1

(B) Evaporation

(D) Thermioni¢ emission

() remain the same Bt J;‘.'Il-!

(D) be deereased by a factor of 4 s’.’.,u_»x:( g

sy

]
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NOTE: Write same question num\‘)er and its | _.i'_twdﬁ .g;i.,,’ly‘f _eg,-fzwg / Z /J dirquﬂqmm-ﬁp}
parts number on answer book, as given in the question paper,
J SECTION-L Jol®
2. Attemapt any five parts, 10=2X5 WYy .?Qlﬁ(ﬁ;!zfé/gc—éf Ay
1 - prove v=14. v=1fl gl et ®
th ' Define Damped Oscillations and give one example. L Sy /TJ';%":}' » ;,;r; (it)
ii) Draw the Ray di ¢ the virtual i 'mati e et f T
(iit) inr?;l a;e n?isn;:gram for the virtual image formation Sapr e -’J’-"‘de’éi Fonts /d»’&’ (iii)
(jv) Whatis the differlgnce between ngat point and far point? L e G A 31 (iv)
(v) Under what conditions will 2 converging lens form 4 ¢ ngu" s L9 ;c/ o B, )
virtual image? N o
(vi) Draw the symbol of NAND gate and also LEFS N SJ S (vi)
write its truth table. Y i o
(vil) What is the function of é_lectron gun? Se (bf‘ﬁ' d’c) . P (vii)
(vili) Define Cathode Ray Oscilloscope. - S /J‘{ £ dertendt e (viid)
3. Attempt any five parts. 10=2%5 &7 .M,Jgétméga.éf A

() Define loudness and \’mfte the name offactorson Al s £ b IS @

- which loudness depends. ,
-/

(i) What is audible fidquency range for human ear” s Lo ‘;u:u,,g 5SS o (i)
(i) Calculate the intensity levels of the fhintest audible sound. } JJ-‘] J g(};e:" ks 4t S (iit)
(iv) ‘Define electroscope and draw its figore. el S L8 (iv)
) A charged rod attracts pieces of paper after 2 i LA Fom) ;Ji’ s o L3kl e Y )

while these pieces fly away. why? ‘?q-t'nw‘ftz' tendiets
(vi)  Write tW0 differences between data and information. B di"gJ) pulp F S (vi

(vii) What are primeary memory devices? _ T LAY i, (vi%)
(vit)y Define Informatioh ariid Comnn}nication Technology- Ny SEg Jff ol (vili)
4. Att’émpt any five pai‘rts.. 102 X5 v£4 q&ik&")ﬂé&d—é! Y e

(1) 1fthetwo Resistors; aving - g e uin 882 642 ? I 5 O
resistances 64 and 802 are ; | ] e gn]

connected in series; find thelr
equivalent resistance.
(iiy Define electric current. Iy Gl gl (ii)
(i) Prove that 1kWh = 8.6 M/ (kW = 3.6 MJ Sl Lﬁiu)
(iv) What is the.differencxc between generatdr and motor? ¢ q—&@ FR ki (Ev)
(v) Describe Lenz's law. e e W)
What is the difference betweeh stable nuclet apd tedt RN (G4 S sard (vi)
unstable nuclei? k
(vii) ‘How the radio isotopes used in the field of medical sl nu‘L"“‘L b u’/ o Jé_ b }.j} ',/ ¥ 4bs ( VU)
Treatment? ' ,

(vii) Write two characteristics of gamma rays. uliF N ) A (vitd)

'(vi)




(2) (M iar-2-23
_ SECTION-II e A
NOTE: Attempt any two questiohs. 18=2X9 M/j w@lﬁﬁamm}q;.df ey
3.(A) What are mechanical waves? 141+1+] jg,,“u_,;w’,;;,t;jz,ﬂ ?"FJMW# K (L).s

(B)

6.(A)

(B)

7.(A)

B

Explain types of mechanical
waves with examples,

An object and its image in o _‘%/’,45(3?,“_[(?&?,“}'5{Lra'-’gjl_,u_y’z' 20cm g_,,-,ﬁ’.g

concave mirror are of the same bRy o
height, yet invetted, when the 5 Sy S EopediGiS

(‘)bje(%t is 20cm from the mirrdr, What is the focal l?ngth of the mirror?

What 15 meant by an acoustic protéction? 4 sy leobs Ky L \FRIpary q.(}u,;ﬂ}r
Explain its method, _ | ‘

LA VAU n et B S Pses S 0N fg.:_/u.,{liu?unu;/,,l»uéxm Zllen
Two charges repel each other with a force of 0.1N 5 U & ki Zoem e
when they are 5¢m apart, find the forces between the same charges "
when they are 2cm apart.

a PR LY ! <, 9 AL #en o ) . = ‘ ‘ o !
P SR R T L A B AL Jedd .ﬁm.pr;.;: VLRV g
: 143 Lt § P n L
What is meant by specific resistance? For a wire of length “L” and crbss sectional area “A”
derive the relation between the résistance “R” and specific resistance " p"?

SIS adoo NS LSS aterd i B et 13V Si5er 200w AP
- 0.4A 2, JtJ?/qjj:J?,éq/(PQf WA AP PRI u"-”A & S w2 iy St id S 6
1+2+2=5 ‘
A transformer, designed to convert the voltage from 240 V a,c mains to 12V, has 4000 turns
on the primary coil. How many turns should be on the secondary coil? If the transformer

were 100% efficient, what current would flow through the primary coil when the current in
the secondary coil was 0.4 4?

20-2023(1*-A)-60000 (MULTAN)
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